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1) Three resistors of 2(, 3( and 5( are to be arranged in such that the effective resistance of the circuit becomes 2.5(. Design the circuit.


2) Three resistors of 12(, 16( and 20 ( are connected such that the current in the circuit is 0.2 A when the set up is connected across a voltage supply of 4.6 V. Find the arrangement of resistors.


3) The current in the circuit consisting of three resistors of resistances 20(, 15( and 60( when connected across a 15 V supply is 0.5A. Find the arrangement of resistors.


4) There are three resistors and an ammeter. The resistances are 10(, 20( and 30(. The resistors are connected across a 6V supply. If the ammeter reads 0.3A, fins the arrangement of resistors and ammeter.


5) The voltmeter reads 2V when connected to a 10( resistor which is connected with two other resistors connected in parallel with each other. The data provided to a student reads that the voltage across the battery is 4V and the other two resistors are connected in parallel and are equal. Find the values of the resistors.


6) A box consisting of three resistors reads as follows. The resistances are 20(, 30( and 38(. Maximum voltage to be applied is 50V and the Maximum current is 1A. Find the arrangement of the resistors.

7) A certain combination of three resistors of resistances 12(, 12( and 24( are connected across a 20V supply resulting in a current of 1A. Find the arrangement.


8) In an experiment to find the resistances of three resistors connected in certain combination the currents and voltages across the resistors were found and tabulated as follows. Find the combination in which the resistors are arranged in the circuit.

	R
	Current
	Voltage

	1
	1.5
	30

	2
	0.5
	20

	3
	0.5
	20


9) Two of the three resistors have equal resistances and the third one has three times the other two. The current in the circuit is 2A when connected across a battery of 10V. Find the combination of the resistances if the current that has drawn is the 1) maximum 2) minimum possible current with the 10V supply.



10)  The maximum current  that can be drawn from a supply of 15V supply is 2.25A in a circuit that have 3 equal resistors and the corresponding minimum current of the circuit is 0.25A, a) find the value of the resistors and their respective combinations. B) Find the other possible value of the current when all the three resistors are used and its combination.

